CallExprE
T=a
Function: append Var: p2
T=([71,7) =171 T = int
Var: pl
T=0




CallExprE
Semantische
Regel T=a
fur
append.T
CallExpr -
(pl.T, p2.T)—E.T

Function: append Var: p2
T=([71,7) =171 T = int

Var: pl




CallExprE
T=a
(V7)) — [l
(B,int) —» «
Function: append Var: p2
T=([v1,7) =171 T = int
Var: pl
T=0

Ersetzung der Typvariablen




CallExprE
T=[]
() = 1
(8,1int) = [1]
/ \
Function: append Var: p2
T=([7v1,7) =171 T = int
Var: pl
T=p

Ersetzung der Typvariablen
a =[]




CallExprE
T=[]
(V7)) — [l
([v],int) — [4]
/ \
Function: append Var: p2
T=([7v1,7) =171 T = int
Var: pl
T =[]l

Ersetzung der Typvariablen
a =[]

B[]




CallExpr E

T=[int]

([int], int) — [int]

([int], int) — [int]

Function: append Var: p2
T=([int],int)—[int] T = int
Var: pl
T = [int]

Ersetzung der Typvariablen
a =[]

B[]

vy = int




